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Seat No. :  _______________ 
  

NK-121 
November-2013 

B.A. (Sem. V) 
302 : PSYCHOLOGY 

(Experimental Psychology & Statistics – I) 
 

Time : 3 Hours]   [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ :   (1) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ× •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
Instruction :  All questions carry equal marks. 
    (2) þùÉÛÛ×ÉÛ Ý¼Ûþäù ¸Û™öà …Ûé™öÛ¾ÛÛ× …Ûé™öÛ ¼Ûé Í¬ÛÛ¶Û ÍÛäµÛà¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
     Calculation should be done minimum upto two decimal points. 
    (3) ÍÛÛþä×ù ïéõÅîýÛäÅÛé¤øÁõ ÈÛÛ¸ÛÁõÈÛÛ¶Ûà ™æö¤ø ™öé : 
     Use of non-programmable simple calculator is permitted. 
 

1. (a) ¾Û¶ÛÛéÜÈÛßÛÛ¶Û¾ÛÛ× …Û×ïõ¦øÛÉÛÛÍªÛ¶ÛÛ× …½ýÛÛÍÛ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 7 
  Explain the importance of the study of Statistics in Psychology.  
 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé Š¸ÛÁõ¬Ûà 5 ¶Ûà ÈÛ•ÛÙÅÛ×¼ÛÛˆ ÁõÛ”Ûà …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ©ÛíéýÛÛÁõ ïõÁõÛé ïéõ 

›÷é¾ÛÛ×¶ÛÛé …éïõ ÈÛ•ÛÙ “91 ¬Ûà 95” ÐüÛéÈÛÛé ›÷ÄõÁõà ™öé : 7 
  Tabulate a frequency distribution from the following scores using an interval of 

“5”. One of the class interval must be “91-95” : 
97, 81, 107, 86, 121, 104, 88, 104, 112, 96, 

105, 99, 117, 100, 103, 99, 92, 93, 94, 107, 
96, 92, 98, 93, 103, 100, 111, 109, 90, 95, 

114, 100, 104, 85, 108, 100, 112, 102, 103, 118, 
81, 118, 97, 104, 110, 102, 97, 122, 91, 109. 

…¬ÛÈÛÛ/OR 
 (a) …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¶Ûä× ïõÛéÌ¤øïõ ¼Û¶ÛÛÈÛÈÛÛ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 7 
  Explain method of frequency distribution table.  
 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà Í©Û×½Û …ÛÅÛé”Û þùÛéÁõÛé : 
  Draw a histogram from following frequency distribution : 7 

ÈÛ•ÛÙÅÛ×¼ÛÛˆ/ 
Class Interval 

…ÛÈÛèÜ«Û/ 
Frequency 

90 – 99 8 
80 – 89 9 
70 – 79 8 
60 – 69 11 
50 – 59 20 
40 – 49 15 
30 – 39 11 
20 – 29 7 
10 – 19 6 

0 – 9 5 
 N = 100 
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2. (a) ¾ÛµýÛïõ …¶Ûé ¾ÛµýÛÍ¬Û¶ÛÛ× Š¸ÛýÛÛé•ÛÛé ›÷¨ÛÛÈÛÛé. 7 

  Write down uses of Mean and Median.  

 (b) Š¸ÛÁõ¶ÛÛ× ¸Ûó.1¶ÛÛ× (b) ¶ÛÛ× …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà ¾ÛµýÛïõ …¬ÛÈÛÛ ¾ÛµýÛÍ¬Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 7 

  Calculate Mean or Median from above Q-1 (b) from the frequency distribution.  

      …¬ÛÈÛÛ/OR 

 (a) ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛé …¬ÛÙ …Û¸Ûà, ÍÛÐüÍÛ×¼Û×µÛÛïõ¶Ûä× …¬ÛÙ–Û¤ø¶Û ÍÛ¾Û›ÛÈÛÛé. 7 

  Define correlation and clarify it’s interpretation.  

 (b) ¶Ûà˜Ûé þùÍÛ ÜÈÛ²Û¬Ûâ…Ûé…é ¾ÛéÇÈÛéÅÛÛ …×•Ûóéœ÷ …¶Ûé ÜÐü¶þùà¶ÛÛ× ¸ÛóÛ¸©ÛÛ×ïõÛé …Û¸ýÛÛ ™öé. ©Ûé Š¸ÛÁõ¬Ûà 
ÍÛÐüÍÛ×¼Û×µÛÛïõ •Û¨ÛÛé : 7 

  …×•Ûóéœ÷¶ÛÛ× ¸ÛóÛ¸©ÛÛ×ïõÛé – 52, 48, 67, 53, 36, 44, 62, 72, 26, 50. 

  ÜÐü¶þùà¶ÛÛ× ¸ÛóÛ¸©ÛÛ×ïõÛé  – 56, 62, 63, 48, 37, 55, 72, 70, 38, 51 

  The following are the scores obtained by 10 students in English and Hindi. 
Calculate the coefficient of correlation.  

  English Scores – 52, 48, 67, 53, 36, 44, 62, 72, 26, 50. 

  Hindi Scores    – 56, 62, 63, 48, 37, 55, 72, 70, 38, 51 

 

3. (a) ˜Û©Ûä¬ÛÙïõÛé …¶Ûé þùÉÛÛ×ÉÛïõÛé ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain Quartiles and Deciles.  

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà ÍÛÛ©Û¾ÛÛ þùÉÛÛ×ÉÛïõ D7 ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 

  Calculate D7 from following from frequency distribution : 7 

ÈÛ•ÛÙÅÛ×¼ÛÛˆ/ 

Class Interval 

…ÛÈÛèÜ«Û/ 

Frequency 

60 – 64 3 

55 – 59 4 

50 – 54 6 

45 – 49 9 

40 – 44 12 

35 – 39 10 

30 – 34 8 

25 – 29 5 

20 – 24 3 

 N = 60 

…¬ÛÈÛÛ/OR 

 (a) ¸ÛóÊ¶Û-3 (b)¶ÛÛ× …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà 53¾ÛÛé ÉÛ©ÛÛ×ÉÛï P53 ÉÛÛéµÛÛé.õ  7 

  Calculate P53 from above Q-3 (b) frequency distribution.  
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 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà 82 ¸ÛóÛ¸©ÛÛ×ïõ ¾ÛéÇÈÛ¶ÛÛÁõ¶ÛÛé ¸ÛóÜ©ÛÉÛ©Û ’õ¾ÛÛ×ïõ ÉÛÛéµÛÛé : 7 
  Calculate Percentile Rank (PR) of the individual who has secured 82 score from 

the frequency distribution given below :  
ÈÛ•ÛÙÅÛ×¼ÛÛˆ/ 

Class Interval 

…ÛÈÛèÜ«Û/ 
Frequency 

110 – 119 1 
100 – 109 2 

90 – 99 3 
80 – 89 4 
70 – 79 5 
60 – 69 10 
50 – 59 5 
40 – 49 4 
30 – 39 3 
20 – 29 2 
10 – 19 1 

 ïäõÅÛ/N = 40 

 
4. (a) ¸ÛóÊ¶Û-1 (b)¶ÛÛ× …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 7 
  Calculate average deviation from frequency distribution given in question Q-1(b).  

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 7 
  Calculate Quartile Deviation (QD) from the following frequency distribution :  

ÈÛ•ÛÙÅÛ×¼ÛÛˆ/ 
Class Interval 

…ÛÈÛèÜ«Û/ 
Frequency 

65 – 69 1 
60 – 64 3 
55 – 59 4 
50 – 54 7 
45 – 49 9 
40 – 44 11 
35 – 39 8 
30 – 34 4 
25 – 29 2 
20 – 24 1 

 N = 50 

…¬ÛÈÛÛ/OR 

 (a) ¸ÛóÍÛÛÁõ¾ÛÛ¶Û¶ÛÛé …¬ÛÙ …Û¸Ûà, ¸ÛóÍÛÛÁõ¾ÛÛ¶Û¶ÛÛ× ¾ÛÛ¸ÛÛé¶Ûà ¾ÛÛÜÐü©Ûà …Û¸ÛÛé. 7 
  Define dispersion and give the name of it’s measurement.  

 (b) Š¸ÛÁõ …Û¸ÛéÅÛÛ ¸ÛóÊ¶Û 4(b)¶ÛÛ× …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ¬Ûà ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û ÉÛÛéµÛÛé. 7 
  Calculate Standard Deviation from the frequency distribution given in question 

4(b) above.   
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5. (a) ¶Ûà˜Ûé¶ÛÛ× ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ× ™öé ïéõ ”ÛÛé¤øÛ× ©Ûé ›÷¨ÛÛÈÛÛé : 5 
  State whether the following sentences are true or false.  
  (1) ’õ¾ÛÛ×ïõ …¶Ûé ¸ÛóÜ©ÛÉÛ©Û ’õ¾ÛÛ×ïõ ¼Û×¶Ûé …éïõ¼Ûà›Û¶Ûà ÜÈÛÄõ±ù ÜþùÉÛÛ¾ÛÛ× ÐüÛéýÛ ™öé. 
    Rank and Percentile Rank (PR) are in opposite direction. 
  (2) …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¶Ûé …ÛÅÛé”Û ³ùÛÁõÛ þùÉÛÛÙÈÛÈÛÛ ¾Ûä”ýÛ ¸ÛÛ×˜Û ¸ÛóïõÛÁõ¶ÛÛ× …ÛÅÛé”Û¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ 

™öé. 
   Main five types of graph are used to show frequency distribution on graph. 
  (3) ÍÛ×˜ÛýÛà …ÛÈÛèÜ«Û …é¤øÅÛé …ÛÈÛèÜ«Û¶ÛÛé •Ûä¨ÛÛïõÛÁõ. 
   Cumulative frequency means multiplication of frequency. 
  (4) ¸ÛóÛ¸©ÛÛ×ïõÛé¶ÛÛ× ¼Ûé ¸ÛóïõÛÁõ ÐüÛéýÛ ™öé. 
   There are two types of scores. 
  (5) ’õ¾ÛÛ×ïõ ÍÛÐüÍÛ×¼Û×µÛ ÍÛÛ¬Ûé ÜÍ¸ÛýÛÁõ¾Ûé¶Û¶Ûä× ¶ÛÛ¾Û ÍÛ×ïõÇÛýÛéÅÛä× ™öé. 
   Spearman’s name is associated with correlation. 
 (b) ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 5 
  Fill in the blanks :  
  (1) ïäõ¤ä×ø¼Û¾ÛÛ× ¼ÛÛÇïõÛé¶Ûà ÍÛ×”ýÛÛ _______ ËÛé¨Ûà ™öé. (”Û×Ü¦ø©Û, …”Û×Ü¦ø©Û) 
   Number of children in family are ______. (Broken Series, Unbroken Series) 
  (2) …ÛÅÛé”Û¸ÛªÛ Š¸ÛÁõ y µÛÁõà (Œ½Ûà Áéõ”ÛÛ) Š¸ÛÁõ Š•Û¾Û Ý¼Ûþäù¶Ûà Š¸ÛÁõ¶Ûà ¼ÛÛ›ä÷…é 

________ Ýïõ¾Û©ÛÛé ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. (Þô¨Û, µÛ¶Û) 
   ______ values are taken at the origin of y point in upward direction on a 

graph papers. (Negative values, Positive values) 
  (3) ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûä× ÈÛ•ÛâïõÁõ¨Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛä× ¶Û ÐüÛéýÛ ©ÛéÈÛà ¾ÛÛÜÐü©Ûà¶Ûé _____ ¾ÛÛÜÐü©Ûà ïõÐéü ™öé.  
   (…ÈÛ•Ûâïèõ©Û, ÈÛ•Ûâïèõ©Û) 
   If classification of score is not shown, such information is called _____ 

information. (Not classified matter, Classified matter) 
  (4) šýÛÛÁéõ ¾ÛµýÛÍ¬Û 47.5 …¶Ûé ¾ÛµýÛïõ 46.6 ÐüÛéýÛ ©ÛÛé ¼ÛÐäüÅÛïõ _________ ÐüÛéýÛ ™öé.  

(51.5, 49.3) 
   When Median is 47.5 and Mean is 46.6, then Mode is _____.  (51.5, 49.3) 
  (5) ›÷é¾Û ’õ¾ÛÛ×ïõ …Ûé™öÛé …é¾Û ÜÈÛ²Û¬Ûâ ______. (¶Û¼ÛÇÛé, ÐüÛéÜÉÛýÛÛÁõ) 
   If Rank is less the student is ______. (Weak, Clever) 
 (c) ›Ûé¦øïõÛ× ›Ûé¦øÛé :  4 
  Match A & B : 

A B 
(i) ¼ÛäÜ±ù 
 Intelligence 

(1) ˜ÛÅÛ 
 Variable 

(ii) ÈÛ›÷¶Û 
 Weight 

(2) ¼ÛÐäüÅÛïõ 
 Mode 

(iii) ¾ÛµýÛÈÛ©Ûâ ÜÍ¬ÛÜ©Û¶ÛÛ× ¾ÛÛ¸Û 
 Measures of Central Tendency 

(3) •Ûä¨ÛµÛ¾ÛÙ 
 Attribute 

(iv) ýÛÛ¾Û 
 Yam 

(4) …ÛÅÛé”Û¸ÛªÛ 
 Graph paper 

 

___________ 


